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Questions

Which plant is not found in the form of underground bulb?

An example of Rhizome is:

Parthenogenesis is a type of reproduction:

In animal process of reproduction without fertilization is called:

How sexual reproduction takes place in Rhizopus?

Each spore is covered with a thick wall called:

Reproduction method in Rhizopus is:

Corals reproduce by means of:

Asexual reproduction in yeast takes place through:

By which method sponges, hydra and corals reproduce?

In which type of the following reproduction ways, buds are formed:

Budding located in :

Answers Choice

A
B
C
D

C
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. Garlic
. Tulip
. Onion
. Lily

. Onion
Garlic
Ginger
Potato

Sexual
Fregmentation
Aseual
Grafting

. Parthenocarpy
Parthenogenesis
. Tissue culture
Fission

. By binary fission
By budding

By spores

By Endospores

Membrane

. Semipermeable memebrane
Fragment

Cyst

Binary fusion
Budding

. Spore formation
. Parthenogenesis

. Binary fission
Fragmentation
Budding

Sexual Reproduction

Budding

. Fragmentation
Binary fission
Spore formation

Fragmentation
Spores
Regeneration
Budding

Regeneration
Fragmentation
Budding

. Binary fission

Amoeba
. Planaria
. Becteria
. Yeast



